BRAEMOAET IR (9A 1 HBAE)

ERK254E9 H 3 H
b ¥ 8 B BOER
(KRR
8 H# (16 H ~31 B, &1EMIC, KRIEEL, Bk EIX S0 o1z, HREFRIIZ D720 o7,
8H % D55 (16~31H)
= H SWHSRIR (C) /K & (mm) H RERFfE] (hr)
U7 I | KPR ez | B AR B [ RSERER| Az | B AU IE | RSEREAR | sz | B AR
ANAR 21.4 21.9 22.4 23.3] 143.0( 155.8| 127.2] 139.1 65.0 64.2 52.2 70.9
WAEZE (L) +2.5 +2.5 +3.2 +2.2] 1929%]| 165%| 169%| 227% 809% 74% 78% 83%
HE)ARFRITKRREOBREZ I, IbiFE ZBGT CEFLIZH DT,
(BRI BIEZIRDL)
BRI OVEVEZE IR
B W BN P IS ] i
- A= H I E | H 2K
X 5 A | EEE] FE M
PR 71.0| £ 0.0 AR 5 . R .
Kk lwm |asw| sor| 40| wea . PR, R, BRIP4 T, B R A
% E 6.8 AO‘B A A B F6 [ TWD, —H Uk CINHEN 2 FE - T D,
s | o ol o (g4, F)IIRY)
Y % 0| — — — -
A3 &/ Ak 11.1 0.2 AR . - . .
. b | M/ PR | [EmETE, —ms e ST
Hslr | 1EE R 90.0 | A4.0 | R hEN Do
= g/ 1 A 2, R
[ % 6| — — — I 1
B cm 68.8 | /0.2 AR
ERRNE 1 # 9.6 | £ 0.0 SEEIE B T S
roE AR [A/10a] 17,500] A508| PR L EREERL
EXE |[E/nd| 567.7| A18.0 | AR
B cm 60.6 2.7 AW
. HEEL ¥ 11.0 0.1 AR
N — 3 |AFIZ A
/! HRAEAS |4/10a] 16,897 A217 AR * RIERR
ERE | ME/nf| 358.7 30.7 | LW
D' cm 53.5 2.6 AR
HE ¥ 4.2 0.1 AR — B2 \ B ‘ ]
W4l [BAAEL | A/10a] 13,897 Ad27 | SEAEN %%ﬂiﬁﬁﬂﬁo —ER I TUHE D R o> TV
ERE | M/ 127.0| A16.6 PR °
g % o — — — -
s - AR _ : FRJENIEAENG 7223, MU R #2213 K&,
T FE JE cm 33.1 0.2 AR I 1 (ke 7T | BEELE)
P cm 72| AOT| RS | R | R 2 e oo hEY, AR BRI, IHEE
- lygis % 19 — — _ =] SWAEN I ZHEA TUWNA,
- ” , e B \ A 1L AR
DA | em® | 213.1| A19.6| F4EN B2\ (Gehmgn, 3, JEE L)
B B s B ‘ 2T EDAEFIT AN, FbHY I
W E‘ Ei@%@) cm 78.6 0.6 :F‘ﬁzﬂ]'z LFE 2 f@%ﬁ%@@fﬁ*—ﬁ“(b \6ﬂﬁfﬂji75§3?)6o
e o - (INFEIEZE AFA—Y 7108 . $IEKESH . 52
Z%EL&% A) 16 - - — Jii 6 fﬁQZ}EEIZ El )
rag AL B cm | 2664 32.7| LR e . .
(AL —H) H g ¥ 6.1 + 0.0 AR FLE K3 EOIROREL AFTITORRN,

H)EEEIL, T2H FTHNEEN |, E3~4HNTRFENEEWY) ), =5 L ERTREWGEEW) JELTunET,
wElx, O 15 HBAEZ9H 19H OR) 15HFICAETHTETT,




LHDOATF AEZEDIER Bl
K| B#LE | KT | AT [EE@R)| A% | xh¥ | vAZ ks ey
HEH | AR | AR | TR | AR | AR | AFEE | AFREE| RIEEER A H R
e - — — — — e — 27 FLNHE 00 FLE
7251 F4H — +0H — — — HOH 2 H — — —
AKF H3H FE4H FELH 1A — H3H FE3 H — IE5 H 41 He6H
% H5H FI1H +0H FI1H — +0H — 3 H 4 H 62 F3H
IER H6H E1H H2H B4R — H1H — +0H 3 H 28 F4H
El=A H4H — — — — — — — E2H 36 F6H
1 5 FH5H E#2H — — — — — H3H 5 H 90 H2H
i H3H +0H H3H H2H — B4R — — 3 H 55 F5H
B HIH 2 H B1H 0 H 2 A 5 H 1 H +0H E13H 10 H2H
L] H5H — H2H 13 H — — — PFEETH 2 H 50 —
Fh—r7 | B6H 4 H B3H B5H B3H ETH B4H — 10 H 15 F2H
1B — H1H H5H F4H H2H F5H — — HETH 17 H5H
BIpE — R2H — — — B3H — — 8 H 7 B5H
s — 1A — — — FH2H — — +0H 1 H1H
RA — — — — — — — — 12 H 18 =
L] F6H 1A 1A F3H F2H 1A F2H 2 H 6 H 16 F3H

EAE AR BRI A ZE 6 (TS E B DR ER R Mt 2 — AL 2b 0% INE I LVEFLIZb D TT,




